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 (20� 7�2�� %6 �.��$ ���a N
9�� (��a �$ Q$���b N�����=

 �26 �2����= _�2� �� N��H2�6 $��J= �/.��� /b���� N�0�Z�. �$

 � �\��B� Q��$ �0� �� � Q�� n�/�_2�=�= 7�� %6 � $8�

 %2	� (&�^ %6 /b�� �� (Z�. _�^ �6 4�� /��.�5� ��$8�. N�

��$
. �=/�$8�.

��$8�. �$ (c) (&�^ )/;V=(5� Q�� %���b �L. �$ .����

 Q�2�$ ��$82�. 72�� ~k (�5 �$ %9 �8V /2� N�2����= �$82�

 =$��]� [� ��6 /	Za (&�^ %6 (Z�. Q$���b Q�� �N�8V %6 �.�

 /b�� �� (Z�. �$ %9m;���= E�2�= _�2� �Z��'= �T �$ �2� N

�6 Q$���bB�Q�� n�� �\�� �.�.

�eP �$ �8V 7�� /�%
��. ��8= ��
2�� %2k �� %9 $�9 N��b

 /^�8. �$ Q$���b N�����= [9��= � n��8= �$8� ��H�6 /g&�e�. 

_�2^ �26 4�2� /��.�25� ��$82�. � Q�2� ��H�6 /.��� (Z�2. 

%	� (&�^ %6 /b���� N���$
. /�$8�.

5.
A� �
A; �A��<� �A��=���> %
�/��� ��/ ?�
� �B��B7
�6; ���E �"#
$
� 	
�2� 

%26 /g2&�e�. 4�2�R� ��2� Q��2�� jZa (��a �$ %9 �8V ����

 4�� %	� $�
�� cR�6 �[���5/�$$�b .j��2.��� (��2a 72�� �$

 �2�5 %6 /58b n6�= jB� %6 �� /g&�e�. %��2O� [� /2� � [�2?9

��$�
� (25$ %26 �� /g&�e�. w��=�� 7�� �T�?R /2� � [2���P

 N�2Ka w��=�2� %6 �� w��=�� 7�� jZa (&�^ �?.��0H%��2O� 

N�Ka �� j9 /.8�	���� w��=�� �eP �$ � Q$�9/�[����..

(5� jZa (&�^ �?.�� %	��� <���� ./2?J� =n$��2J= �

�6��6 �����= ���)mu /����6 .�g2&�e�. ��2B� �?�2O�0%26 
2�. 

jB�Q�8=�9 N�Q�� y�-�.� �2.� .%26 �� /258b /g2&�e�. n6�2=

 y�-�.� ��� X�8T/�[�?9:
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%229 ( )kXim �( )kYim�?��22� /g22&�e�. ��22B� �
2
1

d
=α

/58b n6�= N�?0�/����6 .w��=�2� �T�?R N$�R j^ Y�� %6

%Z5�]� /g&�e�. /2� n2�� %2�&�� N�2Ka w��=�2� �26 � $82�

/� N�Ka �� j9 w��=�� ����0. � $$�b/�(2&�^ {��2�. � [�2?9

 /225��6 �� j22Za/22� �22?9[.jB22� �$ {��22�. 722��*Q$�$ ��H22. 
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67;;�=.)a(��� %226 /b�22��� (Z�22. _�22^ �226 4�22� /��.�225� N
;;)/;V=)b(���� %26 /b�2��� (Z�2. _�2^ �26 4�2� /��.�5� N
;)/;V=)c(���� %226 /b�22��� (Z�22. _�22^ �226 4�22� /��.�225� N
)/;V=.

(5� Q�� .jB� �$*%26 ���2� �2��W= %6 8d��.U N�����= q5�� 

N���)/;V= G	�-� ��$�'� �α(5� Q�� [5� .jB2� �$*.

)a( ;=α(5� Q�� y�-�.� .~2k (�25 �$ (&�^ 7�� �$

 ���= ��$8�. 7�����$ �>2.� Q��25 ��82. X�82T %26 Q$���b N

�-H2� N�20�.� � ��2�6� �$ Q��
\��� N�����= � 
9�� (��a

Q�� �.� ._�2^ �26 4�2� /��.�25� ��$82�. (25�� (�5 �$ �

b�� �� (Z�. (5� Q��P (5$ %6 4�� %	� jB� � Q�� [5� /.

Q���H�/�%26 
2�. o��2�$ /g&�e�. 4��R� �6 {���. 7�� %9 [�?9

$86 Q��P (5$.

jB�*.)b(N��� %26 ;;=α(25� Q�2� [25� .72�� �$

 Q���H� (&�^/��� � %2���� ���
2�� Q$���2b N�����= %9 $8�

 $��J= �
\��� N�����= %29 �82V ���� ���� �(5� Q�� %�5�9 Q� 

α$���/����9 /58b n6�= N�?0� $8�/�/=��2ZR %26 ��26��

/� [9 /g&�e�. ���'� %9 (Mb ��8=/�$��J= %
��. �$ �$8� 

67�>./g&�e �. �8r^ �$ ��� ���W= %6 8d��.U N�����= ��� q5�� 
� jB� /58b4�� %	� ����..

���9 Q��
\��� N�����= /2� ���29 72�� %26 %2�8= �26 � $82�

 Q���H� �/g&�e�./�%29 %���� ���9 
�. 4�� %	� _�� %9 $8�

(5� Q�� Q$�$ ��H. ��$8�. (5�� (�5 �$ p8O8� 7��.

jB� �$*) .c(���'�α�6��6  ;;; (25� Q�2� y�2-�.� .

(&�^ 7�� �$ ���
2�� �6 
�.α$�2�� Q$���2b N�2����= $��2J=

/� ���9 
�. 4�� %	� _�� 7�?x�� � $8�/��6�� .�2.�� 72��

 ���
�� �6 �Q$���b N�����= ���
��α�2= $��$ %2��$� ��2?x��

 �^ �$ %9 /���m;;;;〉α���2b �2����= E��= Q$/2� � �.82�

 7�6 �� /g&�e�. $8�� `�R/�$�� .7���6�2?6 /2� �26 %29 [�2?�6

 N��� %26 �jB2� /258b X�82T %26 /g2&�e�. j��.��� 4��R�

α/� /T�e N�� %2	� $�2
�� �P %
��. %9 ��� /g&�e�. �3� ��8=

$�9 Q���H� (5�.

<.���� �A()� F��A� �A� �"#
$
� ����
�� 	
�2� �
�A�

�"#
$
� %���� G���� �� �6; ���E 
�$ [��2�5 �� N�� �6 �P ��3�= � /g&�e�. ����� jZa �-6 �$ 

(a) 

(b) 
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67�*.E8�.�89 �8r^ �$ ��� ���W= _�^�6 8d��.U v8K5 ����.
 �6 4�� %	� ����. � X�$)=V�m=α.

�9 /5��6 �� N�J6 �26 /g2&�e�. $�2
�� �[�$�9 Q���H� � [�$ 

Q��
\��� N�����= $�
�� cR�6 [���5 N��/�/&�2^ �$ �$8�

 Q$���2b �����= %�� /g&�e�. $8Z. �$ %9/2� �?2��6 .7�2?x��

 4�2�R� [��2�5 %26 /g2&�e�. %29 /�&�2^ �$ [���$ /2� �$$�2b

 � ��22�6� �$ Q�2�
\��� N�2����= � �
29�� �$ Q$���2b N�2����=

N�0�.� ���2a ��$8�. /2� N�2����= � /g2&�e�. $82�� � �2.��b

 4�� %	� $�
�� cR�6 �Q��
\���/�$8� .p8. �$ N��6 �� ��9 7��

 N�2\�$ � o��2�$ N��&$ n6�= X�8T %6 /B� �/g&�e�. j��.���

[�$8�. /5��6 �� {���. � [�$�$ E�
.� /58b n6�= X�8T %6.

�26 �� /�82�.�89 %2K'. �2� ��3�2= �-6 7�� �$ 4�2� �23� N��

 /5��6/��?9[.%29 72�� �26 Q�`2R �8L?� 7�� %6N/g2&�e�. 

Q$�9 $��� [���5 %6 jB� /58b �����2� 4�� /�8�.�89 �3� �= [

� �?0� �L. �� %9 jB� /58b /�8�.�89 %K'. �� 4��R� �6 �$8�

 �� ��b�
6 p�M=��N/g2&�e�. /2� %26 
2�. 4`�2e� �2� ��2��6

 $��� [���5 %6 ��� X�8T/�[Z?9:
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yyxxVH αα expexp  

%91x�1y�?��2� /�82�.�89 %2K'. ��B� ./��2��6 7���6�2?6

 [2���P (25$ %6 jZa j^��� �8x�� �� 4`�e� w��=�� �T�?R .

w��=�22� �4`�22e� w��=�22� �22T�?R �$��P (225$ %226 �� �22J6

 �� j9 /.8�	����/�%6 ��8=(�8. ��� jB� :

12 HHH +=  

�P �$ %229HHH ′+= 0�1H�� /22��. 4`�22e� w��=�22�

 X�$ E8�.�89 $8��/����6 .j2Za (&�^ �?.�� 
�. %	^�� 7�� �$

 w��=�� /����62Hv8K25 �2� ��$�2'� Q�2�� �2= $�9 N�Ka ��

Nh�.� Q���H2� ��� ���W= �6 �� �0.P ����� � [���P (5$ %6 �� �P 

[����. .�L. %6/�N�� �26 ��l2b��3�= N�2�������� �20?= %9 �5�

 ���6 /�8�.�89 %K'. n6�= p�M=�� � �?0� �[���5 .�82L?� 7��� %6

$��P [���82e (5$ %6 �� ��� {���. ������� �$ 7�� �$�$ ���W= �6 .

258b n6�= N�?0� ���6� (26�3 �� /�82�.�89 %2K'. //2� � [��2�b

 ���W= �� �P p�M=��/�[��$ .�$jB2� %6 �� /�8�.�89 %K'. 7�O

 %���b �L. �$ %J��$ /58b n6�= 2��[.jB2�"N��� %26 )=V�

m=α(5� Q�� [5� .��$82�. ~2k (�25 �$ %9 �8V ����

 �(5� �-H� %2K'. $8�� ���2'= %29 Q�2� c2R�6 /�82�.�89

 $8� �=��$ ��Z� �� Q��
\��� N�����= � $��6 7�6 �� [���5 .%26

 ��H2. ��$82�. (25�� (�25 �$ %9 �4�� %	� jB� (	R 7���

 j'�?� ~k (�5 %6 (5� Q�� Q$�$/�$8� .%26 
2�. �P (2	R

 %��8= 
�. ��� X�8T/�$8� .�4�2� %2	� �$��P (5$ %6 N��6

 7��eP 7�6 %	T�� %6 �� ���= 7�&�� � ���= );;N���2� (��2a 

j��Z=/�[2� �6 �� Nh�.� N�����= _�� (��a �� �$ � [�$�9

 n��/�[�$�9 .Q���H� ������= ��� jB� %6 %�8= �6/�%9 $8�

 /b�� �� (Z�. %�^�. �$ �����= ��H�6)m%6 ��.��$ ���a �T�$ 

$8�� %6 %�^�. 7�� �$ %	� jB� (0� 7���/���P.

jB� �$:�26��6 n6�2= p�M=��  ;=V(25� Q�2� y�2-�.�.

���9 Q$���b N�����= $��J= /g&�e�. %?��$ ���
�� �6 7���6�?6

/� Q�2�$ v82O� %26 %	��2� 7�� ��$8�. ~k (�5 �$ %9 ��6��

/� %26 4�2� %2	� jB2� [2� ��6 %9 Q�� cR�6 ��� 7��� � $8� 

�~k (�5%6�� /��� �H�6 �2?9 ���� N� .%2	^�� 72�� �$ %2�Z&�

 t��/�.���B&� %9 $8��0. Q�?9��� N�J6 ���= %6 /��.8�.

/25��6 [��2�5 N�� �26 �� n6�2= N�?0� ��3�= �J6 %	^�� �$

/� [�?9.

jB22� ;N��� %226  ;=V� /;=α(225� Q�22� [225� .�226

 Nh�.� N�����= Q���H� �26 �P %�2��'� � ��$8�. ~k (�5 �$

 jB�:�/�Q��5 ��8. NU�6 Q��
\��� N�����= $��J= �6 %9 [�?�6 
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67�+.E8�.�89 �8r^ �$ ��� ���W= _�^�6 8d��.U v8K5 ����.
 �6 4�� %	� ����. � X�$ ;=V�m=α.

7� 6��.E8�.�89 �8r^ �$ ������W= _�^�6 8d��.U v8K5 ����.
 �6 4�� %	� ����. � X�$)�=V�m=α.

(5� Q�� Q$�
�� >.� .�Q�2�
\��� N�2����= ���
2�� %
��. �$ 

��H�6 %	� ��$8�. �$ /'�� <e _��/�$8� .(Z�. �� �$ ���� 

�J� /b�� �� n2�� [2� �26 N��H�6 Q��
\��� N�����= $��J= 7

/� �.8�.

�� jZa {���./�
2�. %26|�� /�82�.�89 %2K'. 4�2�R� �26 ��8= 

$8�. Q���H� .jB�  %6|�� /�8�.�89 %K'. �3� N��26 m=α�

)�=V��H. �� /���$ .��$82�. %26 %2�8= �26 (2&�^ 72�� �$ 

67��9.�8r2^ �$ ��2� �2��W= _�2^�6 8d��2.U v8K25 ����.
 �6 4�� %	� ����. � X�$ E8�.�89 ;=V� /;=α.

67��8.�8r2^ �$ ��2� �2��W= _�2^�6 8d��2.U v8K25 ����.
 �6 4�� %	� ����. � X�$ E8�.�89 ;�=V�m=α.

(�5 Q���H� �~k/�%2J��$ (2&�^ w2BR (25�$ %29 $8�

��� /���P .��$82�. NU�26 (�25 %26 Q$���2b N�2����= /?J�

6��%��/���$82�. 7���� �$ Q��
\��� N�����= N��B� � �.8�

 Q���H�/�$8� .(Z�2. �$ �2Z��'= ��2����= �2z9� �82k 7���6�?6

��/b�� *m��2�� 4�2� %2	� jB� �%
Z�. �$ �.��$ ���a �T�$ 

72�� �$ �(25� Q�2� Q$�$ ��H. ��$8�. (5�� (�5 �$ %9 �8V

 $�
�� %�^�. /2� $82� .jB2� �$ )���2'� %26 �� n6�2= p�2M=�� 
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 ;�=V���
�� /�[��$ .���9 cR�6 /g&�e�. %?��$ ���
��

 Q$���b N�����=/�� $8� %9 �8V ���� �
�. Q�.���a�6 N�����=

 Q�2�$ ��$8�. ~k (�5 �$ /2� �j2Za (2&�^ %26 (Z�2. $82�

6��%%���$ U�6 (�5 %6 N��H�6 /��� (Z�. �$ �����= �z9� � �.�

/b���� �.��$���a �� ��$
. .�%
��. �$ %�^�. 7�� �$ 4�� %	�

 $�
��/�$8�.

=.�H��� %��E 
Q���H� /	9 �8V %6/��$8� %2	� $�2
�� cR�6 /g&�e�. 4��R�

 4��/�$8� .n6�2= jB2� %6 /g&�e�. p8. �$ 4��R� �6 ����� 7��

 (5� Q�� Q$�$ ��H. /58b � o���$ ./�8�.�89 %K'. �� 4��R�

 Q��$ �P �$ 4�� �3� %9 /����5 �6/�7�2�� 7�26 �� cR�6 �$8�

 4�� %	�/��� � $$�b /�82�.�89 %2K'. /g2&�e�. %2?��$ ��'k


�� 7�6 �� ��J��5 /�8�.�89 �3� ��6�� ���/�$�� .�$ ��2��� 72��

����5�0Q��$ $�\.���� N/�8d��2.U N�2����= q25�� � $82�

 �g&�e�. %6 (Z�.�0����2� %26 ���. $�\.�����. ��� 7\���. N

$��$ N��H�6.
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